REEGPRART VD - A AL X (EBESFDREN) ([COVWTHHEULET,
129 BREEFORART v - JIAALZRICDNT,

RACIEIR I BT Z R D TLEI N

(1D2IC0)

B 1. FHoTWd

B 2. F5R0

OHEflgEst
[2.505720] OEIENE LB THET,
CvEDN) (BESZEROVCES BT : %)
= = A=
@EL _ L 2 G (%) o0 50.0 100.0
mEEH| 892 999 68| 1,959 . . .
&t
OB RlIgEst
BLUDOERFEAESDDEFE A,
(B : A) (EESEEROVEES B : %)
o= 1 2 BOE A .
= 360 431 22| 822 (%) o 50 100
T 509 555 38 | 1,102
BOSS 14 13 8 35 Bt
BB 897 999 68 | 1,950 |
g=qc3
OfFERBIEST
40f%. 50fTlE. T1.X>TWLB] DEIGDHMOPELLRD>TULET,
(B4 : A) (EESERRVEES B : %)
[ol& 1 2 HolE |53 o
T0R 25 33 0 58] | ®© 50 100
207% 68 71 0 139 Loft
307% 85 o8 0 183
4078 149 125 3 277 ‘
507% 147 141 4 292 20f%
607% 201 217 8 426
707% 137 196 20 353 301%
SORILE] 71 111 25 207
EOES 9 7 8 24 40
B3 892 999 68 | 1,959 |
501%
601%
7048

80U LE




OINERX BISEST
B\, S—&T [1.5>TW\3] DEIEHNE<LR>TVET,
B SRE. B, R, —R. BAT 245120 OEIEHIEL B> TNET,

(B4 A) (BESZERVCEES BT : %)
[EE= 1 2 \EOoE |53 (%) o 50 100
EAE 21 22 4 47 s | ' '
po
VESE] 49 44 4 97 -
aiE 76 80 4 160

B8
BiE 29 33 3 65

By
the 47 53 6 106
BEG 56 62 3] 121 hE
B4 47 77 6 130 BAfm
it 43 38 2 83 B
KiE 23 30 0 53 it
#e/\ 25 14 1 40 o
=1 21 38 3 62

TN
SESED 45 37 1 83

=]
PasEp 22 29 2 53
= 8 15 2 25 i
= =] 16 24 2 42 PUE
bR 17 29 4 50 =iEe
EARE 10 19 1 30 T
zs! 49 42 1 92 -
re 15 15

d 0 30 BAIE

-8 45 76 3 124

I
S5— 12 8 0 20
MR 95 84 3| 182 £E
BRZF 41 46 0 87 =R
il 61 68 3 132 5—
WOZEE 19 16 10 45 Ve
&z 892 999 68| 1,959 BRE7

il




